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I will use your

lamnilnstoemail the

announcements.



:LetA =(8-4)=

53

Alz = C 8 -4):i I
men
2x22x2
rI

answer is2x2

S
153). (0) (S 31.(i)

I-

18 -41.(!) (0-4).(i)

(S)(1) +(31(0)(5)(0) +(3)(1)

I I 18111 +14)(01(81(0) +(4)(1)
=(8-4) =A

You can check thatIzA=A.



3

Ex: Let A =(136)
-3

Then,

IcH=(i)(ii)
2x2 2x3
-

↳re
answer
is

2x3 ,0.(i) (101-(5) (101()

- I I101. (ii) (01). (5)
c01s. (8)



1 +0
=(0 +4 ⑤is it
= (") =A

Whatabout
an Ion

the right?

0 0

0 10

#=(i)(0. I
2x,x3

=A
↑.check this



rem: LetA, B, C be

matrices and 2, B be

x
da ea

real numbers.Then
the

following are true
where we

will assume
thatthe

sizes

ofthe
matrices are

such

thatthe operations are
defined:

⑧ A +B
=B+A

② A +(B +C) =(A +B) +c

③ A(BC) =(ABIC

④ A(B +c) =AB+ AC

⑤ (B +c) A =BA+CA



⑥ A(B -c) =AB - AC

⑦ (B - c)A =BA - CA

⑧((B +c)
=aB +xC

⑨ (B - c) =cB
-a

⑩(a +B)A =
2A + BA

⑪(c - B)A
=xA - BA

⑫ ((PA)
=(a) A

⑬ ((AB)
=(cA)B

=A(2B)

⑭ (AYT =A
⑮ (A+ B)

T
=A
+BT

⑯(A - B)
T
=A

+
- BT



⑰(A)t=dAt note E
the

⑱ (ABIT =BT AT * reversal
ofthe
order

⑲ If Ais man, then
E

AIn=A
ww

mxx

⑳ IfA is man, then

Em=A
mxm mxn
-

⑪If Ais man, then

A - A =Dmxn



⑫If Ais man, them

A +Oman
=A

Oman +A
=A
--eReLDOF
-

iprovewheatrices
prof: We mustshow that

(B +c) A
=BA + CA

when A,B, C are 2x2 matrices.



Let

A =(i),B =(i)
and C =(Ei)
where a, b, c, d, e,f, yih, i,5,k,l

one real numbers.

Then,

(B+cA
=[(95) +(i)(:)
-(i)()



(e +if +j)(c)(etif+ j)(d)

S I=(g+h +e)(i)(9 +bn +1)(a)

eatitfc+jc ebtib+fdtjd

I Gathathatec gb + kb+hd+nd)
Also we have

BA + (A
=(4)(=a)+(ii)(i)



eatfc eb+fd
=(gathc gbthd I
l

I
a +jcib +jd

I+ Ratt kb+ld

ebtfdtibrjd
eatfctintjc

b +hd+kb +ld-(gatha that I I
Comparing the above we

see that(B+C)A
=BA+CA

B



HW 1 - Part1-
from the set

⑨ List 3 elements

S =[x,(, +x(0, -x
+3(-2,k)c,x,E)R]

Sume elements from Sare:

-

10(1,1 +0.0,
- x +(- 3) f2,1 first

↑
⑳ -3 element
/

↑ ↑ I=>(,) +(0,0
+[6, - 3) <7,-27

,=
sent

element
=(u,u) +(0,0)

+(0,0)

= - I [0,07



1.1,17 +1.0, -1 +1.- 2,17 third

=(1,1 +(0, - 1) +x - 2,17
<- 1,17

- I element
i8.0, - 17 +4- 2,17

= (8,8 +(0, -x +( - 8,4)
emer

= - I (0,47


